No HEA Rk - Z2EHE | A
43283 EEL=AEEESHY -4 0.1 E3La
43284 *[El{E 55 0.1 &
43285 = a8 0.1 &
43286 A~B§ 58 0.1 &4
4329 ARELIOERERMR
43291 BAo AR E M HY) -8 0.1 i
43292 BEMHY -5 0.1 e
43293 BEMAHYEDS F-E 0.1 FiF
43294 ZoBiEETL - 0.1 E3is
43295 B g5\ 0.1 &4
43.2.10 AREFROHYFLHBE
43.2.10.1 B{EgEE -8 1.1 Fars
43.2.10.2 EH £ 0.5 &4
43.2.11 A 0.1 &
44 BEROGIE 1.1 ]
441 ik D H H-& 1.1 IR
442 oh 1E 5 A FHABS | 1.1 e
443 th 3Pl
44.3.1 FEFRZORR [ i B3
4432 MEF+45 58 1.1 E3rS
4433 EEE -8 1l 4
4434 T O E R OIS -8 1.1 Edaa
4435 BIREEE &, Ryt AR $IB8 | 13 e
4436 AZLEEDFER H-E 1.1 &%
4437 F 00 Hth o0 B A 34 B 5 A R ) 41 PR - 13 5
4438 TOM, BERETEMS O & 11 F1F
44.4 PubEEaA | 0.1

+* 4-83 ABRBRAFHEEEBEILIVISANER
/ClinicalDocument/component/structuredBody/component/section
No E¥-Eit {iE
1 section dm Sl e | eHiatER ~
2 code tolava—FGAERERSEmER)
210 @code I—KFO=——F=v% {:CR12020"
22 @codeSystem J—F{&F 0D f5l: 1.2.392.200119.9.5.2000
23 @codeSystemname O—FOFRTHE B IMIX
24, @displayName I—FHRTE TABEEIMm
3. title o381k
3.1, text() "SRR ST
4. text
4.1, text() (SERLELY)
9 component
6. section HITEoL 3158
HIEoara—F (HEHRTORSHOBS
Fi5 code =
ST
7.1. @code J—F@Q=—F=w%4 " CR12060"
7.2. @codeSystem J—F{&%R OID #l: 1.2392.200119.9.5.2000
13. @codeSystemname I—FDFRTHE  Hl:IMIX
74, @displayName I—FERFE "HEHMEPOEEM O8RS TE"
8. title HIwoian 31 kL




"5

No E¥-Eit &
8.1. text() "BEHR P O OREITHE"
9. entry
10. observation HERUMPOZSHOEETHENS
10.1. @classCode “0BS” (HiE#ER)
10.2. @moodCod "EVN" (A RUHE4E)
HEBEPOLZEEOL ST Mo ER
-ReHICRELZL
11. code R EeHIchELY
-REeMCEXZHESHY
IOV Ta—FIZTRBILTRE#ET 5,
111, @code a—KO=——F=v4 :CR12040"
112, @codeSystem O—KF{&% OID 1:1.2.392.200119.9.5.2000
113, @codeSystemname O—F&EZR H: IMIX
114, @displayName a—FETHE  fl CPRESHCREHY
12. text JAVRAE
i2.1. text() #l: abc
13. value
13.1. @type “BL”
13.2. @value A :true, #E false #l: " false ”
'mponent W{-‘DL\'{
} | THEER (BEAE) mm
i quponent | &iﬁl -
wﬁlﬁ"\éﬂ =} Hﬂi-ﬁﬁfﬂﬁﬁ'dﬁb‘tﬁﬁr
‘#‘6,
| SEE. 0~.-
15, section "J'T—H!ﬂv'ElJﬂﬂ I
16. code HItwHiava—F HFEESR
16.1. @code a—F®O=—F=w4 #:" CR12070"
16.2. @codeSystem O—F{&% OID fl: 1.2392.200119.9.5.2000
16.3. @codeSystemname aA—KOERTHR  Hl:IMIX
16.4. @displayName aO—FERTE Bl EEBR(BHEEKE)”
17. title HIToi a8kl
17:4. text() Bl "FEBR(BMREERE)”
[HEBR (BMRERSE) J0BEER-ZH
A,
& il (EESS EERE) | OBTRERE.
NHEEE
18.1. @typeCode “COMP”
TEEER (BMRERS) 10OKTER -2
Z.
19. observation HEER(BERRE) IORKIBREERE.
DEFEBZEICOVWT. a—FIZTRBILTR#ET
60
194 @classCode “OBS” (FRELEHR)
19.2. @moodCod "EVN” (4 ~k)
TEEBR(BMEERE) 10&LER -2
£.
o etsis (HESR (ERRE) | OBIZREES.
DEFEEICOVWT, 3—FICTRHILTRE#HT 5.
20.1, @code A—FD=—F=v7 Hl; XXXX
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No BER-EE &
20.2. @codeSystem J—F{k%Z OID fl: 1.2392.200119.9.5.2000
20.3. @codeSystemname J—F{EZRH]: IMIX
20.4. @displayName aA—FMETL #Hl: abcdefg
THEER (BHRERE) (1)-(2) 108,
ER-ZHEDTIANRE.
21 text IEFEER (BERRAE) (1) (2) 108,
BEBREBEOTXFAMBE+ " LR VLT TR O
TEXALHE
-1 text() ffl: OO00
22. effectiveTime R HH
22.1. @value [YYMMDDHHMM] - 200701021020
EEE
B
-h&
23. value EE
EHERHNTERE
(22T, a—FIZTES LE# T 3.
23.1. @type “cb”
23.2. @code J—FD=—F=w%7 #l; "CR12090"
23.3: @codeSystem a—F{&% OID 4 1.2.392.200119.9.5.2000
23.4. @codeSystemname a—F&#ZE H: IMIX
235, @displayName a—FOFERTELE #: "hEE
24, entryRelationship EEE
24.1. @typeCode “COMP”
25. observation
25.1. @classCode "OBS” (FEFER)
25.2. @moodCod "EVN” (4 ~R2k)
26. code
26.1. @code | 3—Fo=—F=w% #I:CRI12200 "
26.2. @codeSystem O—KF 0D il 1.2.392.200119.9.5.2000
26.3. @codeSystemname O—R{EZF . IMIX
26.4. @displayName I—FORTE EEE"
ERERS
1. 1=
2. REISDUMLETLDHHLDM
3 ABRDEOARIGARBEEESADELL
27. value A
4, [BF
5. BEICOUMDETLDHDLD
6. 1~5IZ#F2LD
7. HERICBTAEEMOERNITIRE
[ZDLWT, a—FIZTES LE#RT 5,
27:1. @type ens
212 @code J—FH=——%F=v% . “CR12130"
273 @codeSystem J—FK{&Z 0D : 1.2.392.200119.9.5.2000
274. @codeSystemname O—FK&EZ . IMIX
) I—FOERTS
S SR S Bl: R oLABEENDHELD”
28. entryRelationship EREM EDEE
28.1. @typeCode “"COMP”
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No BEXR-E fiE
29. observation
29.1. @classCode “OBS” (ERESFEER)
292 @moodCod "EVN" (A R2bk)
30. code
30.1. @code I—FO=—F=y%Y #l:CR12240 "
302. @codeSystem a—Fk% OID ff: 1.2.392.200119.9.5.2000
30.3. @codeSystemname I—R{RZH]: IMIX
30.4. @displayName I—FDERTE HBREESOEE"
BRERSDEERS
-EELGL
31. value GHE
gt
[Z2WT, a—FIZTESLE#HT S,
31.1. @type “cDh”
31.2. @code I—FO=—F=v¥ fl. "CR12230"
31.3. @codeSystem a—F#FZ OID ] 1.2.392.200119.9.5.2000
31.4. @codeSystemname a—k&EFR F:IMIX
. I—FOEKRTR
315 @displayName Bl “BEdL”
32. entryRelationship g
32.1. @typeCode “COMP”
33. observation
331. @classCode “"OBS” (fiE£HR)
333, @moodCod "EVN” (A _h)
34, code
34.1. @code a—FO=—F=vy% {:CR11280"
34.2. @codeSystem J—F{&% OID il 1.2.392.200119.9.5.2000
34.3. @codeSystemname a—F{&EFR ] IMIX
344, @displayName JI—FO ‘TS “NE"
Mg X 5
2L
35. value SRR
CARXIFAROEER
ED 1
I22LWT, 2—FIZTESLE#HT 5.
301, @type gielny
152 @code a—kFh=——%=w2 #l;: "CR12270"
35.3. @codeSystem OJ—F{#*Z% 0ID f: 1.2.392.200119.9.5.2000
35.4. @codeSystemname a—KR{kZ . IMIX
" I—Fo&Ts
355 @displayName Bl ARXEAEOEE
36. entryRelationship LR
36.1. @typeCode “COMP”
37. observation
371, @classCode “0BS” (HREEFER)
312 @moodCod "EVN" (A ~2h)
38. code
38.1. @code aA—FO=——F=v% 4 :CR11270"
38.2. @codeSystem O—K&Z 0D f5]: 1.2.392.200119.9.5.2000
38.3. @codeSystemname I—R{EZH] IMIX
38.4. @displayName I—KFOFRTFL &R
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No EE-ERE (]
39. effectiveTime InIRHEOFERA
39.1. @value [YYMMDDHHMM] 45]: 200701021020
mRES
‘B (BREED)
‘EELEAEEEDHY
40. value - & [E1E
o
- ~BH
22T I—FIZTESLE#HT 5.
40.1. @type “cD”
40.2. @code aJ—FO=—F=w7 fl; "CR12310"
40.3. @codeSystem a—KF{&ZRZ OID f]: 1.2.392.200119.9.5.2000
40.4. @codeSystemname I—F{EZR H:JIMIX
, A—FDERTRE
40.5. @displayName Bl “RER
41, entryRelationship ARELORRMER
41.1. @typeCode “COMP”
42, observation
421, @classCode "0BS” (FiE{EH)
422, @moodCod “EVN” (A Rk)
43 code
43.1. @code J—FO=——F=v% #|:CR12340"
43.2. @codeSystem O—F{&&Z 0ID ]: 1.2.392.200119.9.5.2000
43.3. @codeSystemname O—F{RFM : IMIX
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BEMEHY
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o EESELL
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442, @code I—FO=—%=v2 ffl. CR12360"
44.3. @codeSystem O—F{&Z OID I 1.2.392.200119.9.52000
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48. manufacturedProduct RE
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50.1. @typeCode “COMP”
-5 1 observation
51.1. @classCode “0BS” (RELER)
51.2. @moodCod "EVN" (A Rh)
b2. code A
52.1. @code a—FOh=——F=v% #l; CR11840
52.2. @codeSystem J—F#&ZR oD f: 1.2.392.200119.9.5.2000
52.3. @codeSystemname a—F{&ZFRH : IMIX
524 @displayName I—FOFRFRE "2AR
53. text JAVRRE
53.1; text() "AAAAANAANT
54. | component e e
55. _section HItoal e |
56. code HJtHiaa—K  (GREOfiE)
56.1. @code 2—FO=—F=wY $I:CRI12410
56.2. @codeSystem O—F{#&%F OID . 1.2.392.200119.9.52000
56.3. @codeSystemname 2—FOFRTHA Bl IMIX
56.4. @displayName J—FFRE ABROLE”
57. title HItoL 331 kL
57.1; text() “HREOPIL”
58. entry
58.1. @typeCode “COMP”
59. observation
59.1. @classCode “OBS” (BEHRR)
59.2. @moodCod "EVN” (A R2h)
60. code ARG FOERa—F
60.1. @code a—FO=——F=v% f#|: CR12500
60.2. @codeSystem a—K{&% OID {#:1.2.392.200119.9.5.2000
60.3. @codeSystemname a—FER FHl IMIX
60.4. @displayName JI—FDFRTH “DIEEHE"
61. text PIFEIAVROAE
61.1. text() {5: abcdefg
62. effectiveTime BERh IR
62.1. @value [YYMMDDHHMM] {5l 200702031000
BEDLERORE
HEBEZORBCARECEMENER Y
L=1%&)
RS+
-EERE
OO ERES (ST, &k, BEH)
SERESER . BRSOV EEEEAL D FIBA
63. value -HAZELEORER
- F O fth @) T XA B S AR A iR 8 A BR
-FOfth, AR E T ENF Ok
TR EHRIYEETAEEEI—FICTRALTEE
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L value"NIZDOWNT, BHTHHBETBRYIERLT
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Z£EE: 0
63.1. @type el
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No B¥R-EE {E

63.3. @codeSystem O—K{k% 0ID 1:1.2.392.200119.9.5.2000
63.4. @codeSystemname a—F&EZR #:JIMIX

63.5. @displayName JO—FRTE "HAZLEEOFER"

64. entry ZEE: 0.1
64.1. @typeCode “COMP”

65. observation

65.1. @classCode “OBS” (BREHR)

65.2. @moodCod “EVN” (A R2k)

66. code aAB

66.1. @code I—FO=—F=w% fil: CR11840

66.2. @codeSystem O—K{kFR OID f: 1.2.392.200119.9.5.2000
66.3. @codeSystemname O—F&EFR ) IMIX

66.4. @displayName J—FOFxRFTH "aAL

67. text OAVRRE

67.1. text() "TAAAAAAAANT

5. H+ o 7 L XML

<?xml version=1.0" encodmg’ "UTF-§ ")
<Cl|n|calDOCument xmlns="urn:hl7-org:v3” xmins:voc="urn: hl7 orgv3/voc
xmins:xsi="http://www.w3.0org/2001/XMLSchema-instance” xsi:schemalocation="urn:hl7-org:v3 CDA.xsd">
{I—
EFIMEES T

<typeld root="2.16.840.1.113883.1.3" extension="POCD_HD000040" />

<templateld root="2.16.840.1.113883.3.27.1776" />

<id extension="c266" root="2.16.840.1.113883.19.4" />

<{code code="CR00000" codeSystem="1.2.392.200119.5.3.1" codeSystemName="JMIX" displayName="
EFBREE" > ) .

itle> I ERBRU/NR BRELUTIZE TE29IVEII A ILOREE. EMEORREER MO
fili — 3E FF. SEE LR — title>

<effectiveTime value="200405171800" />

<{confidentialityCode code="N" codeSystem="2.16.840.1.113883.5.25" />

<languageCode code="ja-JP"/>

<setld extension="123456" root="A0000000" />

<versionNumber value="1"/>

-—>

fil==
WEEER
-—>
<recordTarget>
{patientRole>
<id extension="FF0000032983" root="A0000000" />
<{patient>

<{name/>
<administrativeGenderCode code="U" codeSystem="2.16.840.1.113883.5.1"

displayName="1& HiRE"/>
<birthTime value="20070924" />

<{/patient>
{providerQrganization>
<id root="A0000000" />
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<name>FFIBE</ name>
</providerQrganization>
</patientRole>
</recordTarget>

ﬁ)ﬁqﬁg%[;“agﬁﬁﬁ% ‘Legal Authenticator& &L )

{author>
<time/>
{assignedAuthor>
<id nullFlavor="NI"/>
{assignedPerson>
<{name>
{given> A BA</given>
CFamily> IUE </ Family>
</name>
</assignedPerson>
<{representedOrganization>
<id root="A0000000" />
</representedOrganization>
{/assignedAuthor>
</author>
<{custodian>
<assignedCustodian>
<{representedCustodianOrganization>
<id nullFlavor="NI"/>
<name/>
<{/representedCustodianOrganization>
{/assignedCustodian>
</custodian>
{legalAuthenticator>
{time value="20000408"/>
<signatureCode code="S"/>
<assignedEntity>
<id extension="KP00017” root="A0000000" />
<{assignedPerson>
<name>
<given> X BR</given>
<family> LI </Family>
{/name>
</assignedPerson>
<{representedOrganization’>
<id root="A0000000"/>
<{/representedOrganization>
<{/assignedEntity>
{/legalAuthenticator>
-
RERTIBERD

<{documentationOf>
<serviceEvent>
<code code="CR10140” codeSystem="1.2.392.200119.9.5.2000"
codeSystemName="JMIX" displayName=";888 7B ERFH"/>
{performer typeCode="SPRF">
{assignedEntity>
<id nullFlavor="NI"/>
<assignedPerson>
<{name>
{given> AXBA</given>
family> KR/ family>
</name>
</assignedPerson>
</assignedEntity>
</performer>
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BEES

<{performer typeCode="SPRF >
{assignedEntity>
<id nullFlavor="NI"/>
{assignedPerson>

<{name>
<given> A BA</given>
LFamily> P Ep</Family>
{/name>
{/assignedPerson>
{/assignedEntity>
</performer>
{performer typeCode="SPRF ">
<assignedEntity>
<id nullFlavor="NI"/>
<assignedPerson>
<name>
<{given> K BA</given>
<Family>H </ family>
</name>
<{/assignedPerson>
<{/assignedEntity>
<{/performer>

{/serviceEvent>
</documentationOf>
{documentationOf>
{serviceEvent>
<code code="CR10150" codeSystem="1.2.392.200119.9.5.2000"
codeSystemName="JMIX" displayName=" 8E&tR HE"/>
<performer typeCode="SPRF">
{assignedEntity>
<id nullFlavor="NI"/>
<{assignedPerson>

<{name>
{given>{EF</given>
<family> i B </family>
</name>
</assignedPerson>
</assignedEntity>
</performer>
<performer typeCode="SPRF ">
{assignedEntity>
<id nullFlavor="NI"/>
<assignedPerson>
<{name>
Lgiven> fEF</given>
<Family>{k B </ family>
<{/name>
</assignedPerson>
</assignedEntity>
{/performer>

<{performer typeCode="SPRF">
{assignedEntity>
<id nullFlavor="NI1"/>
<assignedPerson>

<{name>
{given>{EF</given>
<Family> B &</ family>

{/name>

{/assignedPerson>
{/assignedEntity>
</performer>
{/serviceEvent>
{/documentationOf>

<{documentationOf>»




BEES

{serviceEvent>
{code code="CR10160" codeSystem="1.2.392.200119.9.5.2000"
codeSystemName="JMIX" displayName=" 8B EEM#RIFERA" />
<performer typeCode="PRF">
<time value="20020415"/>
{assignedEntity>
<id nullFlavor="NI"/>
<assignedPerson>
{name>
<given> A BR</given>
family> P EF</Family>
<{/name>
<{/assignedPerson>
</assignedEntity>
{/performer>
<{/serviceEvent>
<{/documentationOf>
<{documentationOf>
{serviceEvent>
{code code="CR10170" codeSystem="1.2.392.200119.9.5.2000"
codeSystemName="JMIX" displayName=";2EREENFEZZR"/>
{performer typeCode="PRF">
<time value="20020618"/>
<assignedEntity>
<id nullFlavor="NI"/>
<assignedPerson.>
<name>
<given> A BA</given>
<Family> R EF </ family>
<{/name>
</assignedPerson>
<{/assignedEntity>
</performer>
{/serviceEvent>
</documentationOf>
Ll
sefetoklekoRloR okl oRokoRokskokRoRokskokokoR okl olekookiatofoks Rkl ok
CDA Body
s okokooloR ok ook Rk sk ookl kRl okoks kol Rk ok
==y
{component>
{structuredBody>
=
B R e T T S e e e e e
RIEEEH
B T T et T R e e e e S e
-
{component>
{section>
{code code="CR00020" codeSystem="1.2.392.200119.9.5.2000" />
<title > [B & HR1F </ title>

{text>
<{table>
<thead>
<tr>
<h>BEIEERGE A B/th>
<h>RIEREE Cth
<ty
{/thead>
{tbody>
<tr>
Gd>TFR14FE 128128 </td>
td>HEAR A</t
</t




<tro
Sh>RIZREER H/th
<h>RIEREE Cth
<h>BEREBCth
<ty
<tr>
Gd>FER14FE128128</td>
<edDHEAR - A</ td>
ad>O0OMT=8H</td>
<A
<{/tbody>
{/table>
{/text>
{entry>

<act classCode="CONS” moodCode="EVN">
<{code code="CR10180"
codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX” displayName="B&Em&" />
<{text/>
¢statusCode code="completed” />
<effectiveTime value="20021212"/>
{performer>
{assignedEntity>
<id/>
<code code="CR10190"
codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX" displayName="42%8"/>
<assignedPerson>

<name/>
</assignedPerson>
<{/assignedEntity>
</performer>
{/act>
</entry>

{entry>
<act classCode="CONS” moodCode="EVN">
<{code code="CR10200"
codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX" displayName="H R Zig" />
<dext> QO D F=H </ text>
{statusCode code="completed” />
{effectiveTime value="20021212"/>
{performer>
{assignedEntity>
<id/ >
<{code code="CR10190"
codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX" displayName="42%8"/>
<assignedPerson>

<{name/>
<{/assignedPerson>
</assignedEntity>
</performer>
{/act>
</entry>
<{/section>
<{/component>
{—
B 3 S S e B P A o e
WA MRS
sk kR KRR R R kKRR R kKR RRokioor kol ok ook sk ek sk ok o
=
{component>
{section>
{code code="CR10210" codeSystem="1.2.392.200119.9.5.2000" />
<titleBIHE PERERR /title>
{component>
{section>
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{code code= CR10220"
codeSystem="1.2.392.200119.9.5.2000" />

title> BIREHE titled>
{text>
<table>
{thead>
<{tr>
th>EEE Bt
d>ERK 19410
B2B8</td>
<Aty
</thead>
<{tbody>
<{tr>

<h>1. APREH
T, FIRER - HHEPOLEICEFNLIATNELZTIEFNDIL., BRERER EHFEQOHEBMEEN Y
BELGLHBEth

<td>Yes</td>
{/tr>
<tr>
{th>2. 6EELLTF
(7% 5 O fiE (R B ERiSHF)</th>
<{td>Yes</td>
</trd
<{tr>
B <th>3. RE: &
EEISXEBICLLAB A I7+— Lo MR- IR/ th>
<td>Yes</td>
<>
<{/tbody>
</table>
{/text>
{entry>

<observation classCode="COND"

moodCode="EVN">

<code code="CR10220"
codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX" displayName=" 2R FEHE"/>

{statusCode
code="completed” />

{effectiveTime
value="20071002" />

{entryRelationship
typeCode="CAUS” inversionlnd="true”>

<{observation
classCode="0BS"” moodCode="EVN">
<{code
code="CR10230" codeSystem="12392.200119.9.5.2000" codeSystemName="JMIX" displayName=" APz HEH
géﬁﬁ%gg;%%Jﬁﬁ?@%tl:??ﬁtt(Ii&&ﬁ’&%l'féﬁﬂ@:)"‘o\ R REE-EREOHPNRE LD
‘@ R

xsitype="BL" value="true” />

{value

<{/observation>
<{/entryRelationship>
{entryRelationship
typeCode="CAUS” inversionlnd="true”>
{observation
classCode="0OBS"” moodCode="EVN">
{code
code="CR10240" codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX" displayName="6%% LL (7
Bk QEF(RERGSH)" />
{value
xsitype="BL” value="true” />
<{/observation>
</entryRelationship>
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. ) B ) <entryRelationship
typeCode="CAUS" inversionind="true >
. . <observation
classCode="0BS" moodCode="EVN">
<{code
code="CR10250" codeSystem="1.2.392.200119.9.5.2000” codeSystemName="JMIX" displayName="[81Z: : {£
EOLXBIZEDREA L 7+— LRV RN ESRE-IRT /S

_ M . {value
xsitype= BL" value="false” />
<{/observation>
<{/entryRelationship>
</observation>

{/entry>
<{/section”
<{/component>
{component>
{section>
<code code="CR10260"
codeSystem="1.2.392.200119.9.5.2000" />
<title> BRoH B HE/titled>
<{text>
<table>
<{thead>
<{tro
<th>FEERE
</th>
<td>FRLT19510
A28 </td>
<l
</thead>
<{tbody>
<{tr> P
{th>1.
D EF/thy
<td>No</td>
<ty
<tr>
= <th>2. FERE 51 BF
BrE T BHE U th
<td>Yes{/td>
</
<tr>
<th>3. HiTRTMD
HEINTWSEEth
<td>No</td>
</t
<tr>
<th>4. fiTRIM D
FLER VIVEIIVAZLLGEOREDREERHTTVEEE Ut
<td>»No</td>
</t
{tr>
N <th>5. ERMD
EBLEBEALTLET, FERBEATZELEE Vth
<td>No</td>
Lo d s
<t

<th>6. R HA(24
B LLE)DM R EEAMLE, REIMERICHFRREFEECEREORSABELTAINLEE Uth
<td>No</td>
<ty
<tr>
N <th>7. BRERIE
B MERRLENS. FHORRELIEZWG - RERILNOSHBEEENTEDLNSEE Vthy
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BHS

<td>No</td>
</t
<{tr>
<th>8. S ECRF
HWEERE. RIIBHRERFTOHIEE/th>
{td>No</td>
</tr>
>
<th>9. KEID AL
. RITMOEERICHLTERRIGDEEEAHDHEE U/ th
<td>No</td>
</tr>
<tr>
<th>10. I bFE
ILDEEEZH TS, HAHWNIERIT TN -EEth>
<td>No</td>
</t
<{tr>

<th>11. 64 B LKL
Q%‘gaﬁﬁﬁﬁﬁ‘ FEBODDVIFUORUERREOERBHREGALZ. HAVEEABRBEPIZERFTETHD
7 § t

{td>No</td>
</t
<t

<{th>12. FKBER

IZBMLI-ZEDHDHBE th

<td>No</td>
</t
<{tr>

<th> 13 D EERY
gg’%ﬂ’ﬂ. #HEMBRGEICIYAREEEMIILERSIBEMIER~OSMATEY THIEHIMLIZE
th>

<td>No</td>
>
<tr>
‘ ‘ <th> 14, T DA,
AREEEMXIEEBRSIEEMAREB~AOENATENTHDH LM LI-BE Vth>
<td>Nod/td>
</t
<{/tbody>
<{/table>
{/text>
{entry>

{observation classCode="COND"
moodCode="EVN">
{code code="CR10260"
codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX" displayName="Bg 4+ E %" />
<{statusCode
code="completed” />
<{effectiveTime
value="20071002" />
<entryRelationship
typeCode="CAUS"” inversionlnd="true”>
<observation
classCode="0OBS” moodCode="EVN">
<{code
code="CR10270" codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX" displayName="4} 3 Fi %
DEFE"/>
- - . <value
xsitype= BL" value= false />
{/observation>
</entryRelationship>
<entryRelationship
typeCode="CAUS” inversionlnd="true” >




¢EE} 5

<{observation
classCode="0OBS” moodCode="EVN">
{code
code="CR10280" codeSystem="1.2.392200119.9.5.2000" codeSystemName="JMIX" displayName="48}& &} F&
BETIRS88" />

xsitype="BL" value="true” />

<value

<{/observation>
<{/entryRelationship>
{entryRelationship
typeCode="CAUS” inversionlnd="true">
{observation
classCode="0BS” moodCode="EVN">
<code
code="CR10290" codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX" displayName="lfRI M5 iF
BEEhTWAEE"S
<{value
xsi:type="BL" value="false” />
</observation>
</entryRelationship>
<entryRelationship
typeCode="CAUS” inversionind="true”>
{observation
classCode="0BS"” moodCode="EVN">
{code
code="CR10300" codeSystem="1.2.392.200119.9.5.2000” codeSystemName="JMIX" displayName="Hi&I /5> E
WER DIV IT B VEEDOHEDREEZHTTWAEBE"
<value
xsitype="BL" value="false” />
<{/observation>
</entryRelationship>
<entryRelationship
typeCode="CAUS" inversionlnd="true”>
<observation
classCode="0BS"” moodCode="EVN">
{code
code="CR10310” codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX" displayName="5c 41>
R ERBEA_TRET, BRRDHENAFLELEE S

xsi:type="BL" vaiue="faise” />

{value

<{/observation>
</entryRelationship>
<{entryRelationship
typeCode="CAUS" inversionlnd="true >
<observation
classCode="0BS” moodCode="EVN">
<{code
code="CR10320" codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX" displayName="{& (248}
FLLLDFFIREBEANE, RIEHEICHEREFECHEFEORSAVELFTIENLIEE",
<{value
xsi:type="BL" value="false” />
</observation’>
</entryRelationship>
{entryRelationship
typeCode="CAUS” inversionlnd="true” >
<{observation
classCode="0BS” moodCode="EVN">
<{code
code="CR10330" codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX" displayName="B&RIZ % .
tWREFARGEENS, FROMRELLIEBD: REX)LUSNDODEHBREENBEDOILIBE
{value
xsi:type="BL" value="false” />
</observation>
<{/entryRelationship>
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<{entryRelationship
typeCode="CAUS" inversionlnd="true” >
{observation
classCode="0OBS"” moodCode="EVN">
<{code
code="CR10340" codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX" displayName="15 B % FF 4
HEEE. NIEREEEOHLBEE"

xsitype="BL" value="false” />

<value

<{/observation>
<{/entryRelationship>
<{entryRelationship
typeCode="CAUS” inversionlnd="true”>
{observation
classCode="0OBS"” moodCode="EVN">
{code
code="CR10350" codeSystem="1.2.392.200119.9.5.2000” codeSystemName="JMIX" displayName=""2F!| D Ak
S XIFMOEERICHLTABRECOEBRENHLBE"
{value
xsitype="BL" value="false” />
</observation>
</entryRelationship>
<{entryRelationship
typeCode="CAUS" inversionlnd="true”>
<{observation
classCode="0OBS” moodCode="EVN">
<code
code="CR10360" codeSystem="1.2.392.200119.9.5.2000” codeSystemName="JMIX” displayName="1)r7E JL
DEFEERTTVS. HAWNEIZH TV =EE"
<{value
xsitype="BL" value="false” />
<{/observation>
<{/entryRelationship>
<entryRelationship
typeCode="CAUS" inversionlnd="true >
{observation
classCode="0BS"” moodCode="EVN">
{code
code="CR10370” codeSystem="1.2.392.200119.9.5.2000" codeSystemName=""JMIX" displayName="64 8 LL[A
%_fﬂl,a)}'ﬁsﬁﬁ\ FERBODIFURUVERRZOERMBFERAL. AW ABUMPICERFTETHLE
o

xsitype="BL" value="false” />

<{value

</observation>
</entryRelationship>
{entryRelationship
typeCode="CAUS" inversionind="true” >
<{observation
classCode="0BS"” moodCode="EVN">
<code
code="CR10380" codeSystem="1.2.392.200119.9.5.2000” codeSystemName="JMIX" displayName="2;BEk(Z 5
mLt-CEnHHLEE"/>
<{value
xsitype="BL" value="false” />
</observation>
</entryRelationship>
<entryRelationship
typeCode="CAUS" inversionlnd="true”>
{observation
classCode="0OBS"” moodCode="EVN" >
{code
code="CR10390" codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JUMIX" displayName="1:IE#], Z
[i:*/ﬂ‘l*i%E‘"J%@Uff:rﬁL)ﬁf‘:‘i‘;ﬁﬁ‘filggmﬂlii‘ﬁ SIEEMIGEBADEMATBY THLIEHIEL-ES
>
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<{value
xsitype="BL" value="false” />
<{/observation>
</entryRelationship>
<{entryRelationship
typeCode="CAUS” inversionlnd="true”>
<{observation
classCode="0BS"” moodCode="EVN">
<code
code="CR10400" codeSystem="1.2.392.200119.9.5.2000” codeSystemName="JMIX" displayName="F ) {th. &
BETEMXILEBRSIBEMA R ABADBNAT B THALHMLI-BE" />

xsitype="BL"” value="false” />

<value

</observation>

<{/entryRelationship>
</observation>
{/entry>
{/section>
</component>
{/section>
<{/component>
s
stk kR dokskRR R R SR kR KRR Rk R Rk s sk st etk s ok sk

EEES
T EEBERIEIAVTEOPatienttEiRE— B EH L TR

kR K FA AR AORK ok KRR ok ook ool oRok ok ok kR ok oK oK
e
{component>
<{section>

{code code="CR00010” codeSystem="1.2.392.200119.9.5.2000"
displayName="BEEHZ"/>

<title> B H R </title>

{component>

{section>
{code code="CR10010"

codeSystem="1.2.392.200119.9.5.2000" displayName="{8 & &R~ />

<title> BB FIH IR/ title>
{text>
{table>
{thead>
{tr>
<tho R/ th
Gh>EEHFA
</thy
SGhERIES
B)</th>
<th> B R /thy
Eho R E/thy
</t
<{/thead>
{tbody>
<tr>
<d>FBR/td>
<td>FERL124E8
B238<¢/td>
<td>2gE37 A0
B</td>
<td>86 cm(FERK
14512 188)</td>
<td>»25 Ke(FRL
14412 518 H)</td>
<At
</tbody>
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{/table>
{/text>
<{entry>
B ) {observation classCode="0BS"
moodCode="EVN">
<code code="CR10010"
codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX" displayName="8 & 15" />
{text/>
o {value xsitype="PQ" value="2"
unit="a />
<value xsitype="PQ" value="3"
unit="mo" />
{value xsitype="PQ" value="10"

unit="d"/>
{subject>
<{relatedSubject>
{subject>
<administrativeGenderCode code="M" codeSystem="2.16.840.1.113883.5.1"/>
<birthTime value="20000823"/>
<{/subject>
{/relatedSubject>

</subject>
. . <{entryRelationship
typeCode="COMP >
<{observation
classCode="0BS"” moodCode="EVN">
{code
code="3137-7" codeSystem="2.16.840.1.113883.6.1" codeSystemName="LOINC” displayName="8&"/>
<{statusCode
code="completed” />
N . {effectiveTime
value="2002041218" />
{value
xsitype="PQ" value="86" unit="cm” />
<{/observation>
<{/entryRelationship>
. . <{entryRelationship
typeCode="COMP ">
. . <{observation
classCode="0BS"” moodCode="EVN" >
o . <code
code="3141-9" codeSystem="2.16.840.1.113883.6.1" codeSystemName="LOINC" displayName="{&AFE"/>
B B {statusCode
code= completed />
B . {effectiveTime
value= 2002041218" />
. ” <value
xsitype="PQ" value="258" unit="kg" />
</observation>
</entryRelationship>
</observation>
</entry>
<{/section>
{/ecomponent>
{component>
<{section>
{code code="CR10020"

title> &£ %64 BE TGS L THIZE2# < title>
{text>

codeSystem="1.2.392.200119.9.5.2000" />

<{table>
<tbody>




EES

<tro
th>FERRE K
</thy
<td>4031E8 18
</td>
SGOREAE
</thy
‘ Gd>EEARE
1A EF LT ER</td>
<t
<tr>
<th> 52 RR B R
</th>
<td>43iE8 58
</td>
) ShyHEROT
TH—ZRaF7(BHHEN/th>
{d>10m</td>
S te>
</tbody>
<{/table>
{list>
tem>EIRFREAD BHE D KR
</item>
<tem>BHHER W</ item>
{item>
<content ID="al">EEJE
{/content>
</item>
{item>
<content ID="a2"> %
{/content>
</item>
<list>
<list>
<item>EFHIIR 5 H U</ item>
<tem>F 7R /item>
</list>
{/text>
<entry>

<observation classCode="0BS"
moodCode="EVN">
<code code="CR10030"
codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX" displayName="fH{& 7L {5 HEBEFHR" />
" " <entryRelationship
typeCode="COMP >
{observation

classCode="0BS"” moodCode="EVN">
<code

code="CR10040” codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX" displayName="7E }4 18 %
o

xsitype="PQ" value="281" unit="d"/>

code="CR10120" displayName="H$2 A F 1 B o2EL -8R />

<value
<{methodCode

<{/observation>
</entryRelationship>
<{entryRelationship
typeCode="COMP">
<{observation
classCode="0BS" moodCode="EVN">
. <code
%)de="CR10050 codeSystem="1.2.392.200119.9.5.2000” codeSystemName="JMIX" displayName=""3 & # 3B
Vi,
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{value
xsi:type="PQ" value="306" unit="d"/>
<{/observation>
<{/entryRelationship>
{entryRelationship
typeCode="COMP ">
{observation
classCode="0BS"” moodCode="EVN">
{code
code="CR10060" codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX" displayName="H 4B D 7
TH—ZRaF7(6HE)" />

xsitype="PQ" value="10" unit="g&"/>

<{value

</observation>
<{/entryRelationship>
</observation>
</entry>
<entry>
. <observation classCode="COND"
moodCode="EVN">
<code code="CR10070"
;3§{§jf’s>ystem:"12.392.200119.9.5.2000" codeSystemName="JMIX" displayName="1F ik A O & D 1K 0 (& 4
E

typeCode="COMP">

<entryRelationship

<{observation
classCode="0BS"” moodCode="EVN">
. {code
code="CR10080" codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX" displayName="88%8">

{originalText>
<reference value="#al"/>

<{/originalText>
<{/code>
{statusCode
code="completed” />
<{/observation>
<{/entryRelationship>
<{entryRelationship
typeCode="COMP">
{observation
classCode="0BS"” moodCode="EVN">
<{code
code="CR10090” codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX" displayName="RgJ% ">

{original Text>
<reference value="#a2"/>

{/original Text>
</code>
. . {statusCode
code= completed />
{/observation>
</entryRelationship>
{/observation>
{/entry>
{entry>
<act classCode="INFRM"
moodCode="EVN">
{code code="CR10100"
codeSystem="1.2.392.200119.9.5.2000" codeSystemName="JMIX" displayName="3FiE R EID X FE1E$R"/>
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